# Furniture for Fort Bend County Public Transportation Administrative and Operating Facility

# Awarded 10/08/19: Core Interiors \$374,566.00 Funding: Public Transportation Grant

			Company:	Core Interiors		Corporate Outfitters	Debnar Hauston TV
				Houston, TX Yes		Houston, TX	Houston, TX
Item	LEGEND	TAG/FURNITURE DESCRIPTION	Form 1295: Est. Quantity	Unit Price	Total Price	Unit Price Total Price	Unit Price Total Price
1	PO-I	WOOD GRAIN LAMINATE U-SHAPED OFFICE TYPICAL  72" X 36" MAIN DESK WITH BBF PEDESTAL WITH FALSE BULKHEAD MODESTY  ** BBF PEDESTAL 18" x 27" (2) 6" DRAWERS AND (1) 12" DRAWER  96" X 27" CREDENZA WITH BBF PEDESTAL AND FF PEDESTAL WITH FULL MODESTY  ** BBF PEDESTAL 18" x 23" (2) 6" DRAWERS AND (1) 12" DRAWER  ** FF PEDESTAL 18" x 23" (2) 12" DRAWERS  48" X 24" BRIDGE WITH FULL MODESTY  102" OVERHEAD ABOVE BRIDGE TO INCLUDE 15" WIDE OPEN TOWERS AT EACH END AND HINGED DOORS IN MIDDLE	11	\$4,203.90	\$46,242.90	Disqualified due to not submitting all forms as required.	Disqualified due to not submitting all forms as required.
		TASK LIGHT AND TACKBOARD INCLUDED					
		(State manufacturer name and number above if bidding an equivalent)					
2	PO-1A	WOOD GRAIN LAMINATE U-SHAPED OFFICE TYPICAL 72" X 36" MAIN DESK WITH BBF PEDESTAL WITH FALSE BULKHEAD MODESTY *** BBF PEDESTAL 18" x 27" (2) 6" DRAWERS AND (1) 12" DRAWER 96" X 27" CREDENZA WITH BBF PEDESTAL AND FF PEDESTAL WITH FULL MODESTY *** BBF PEDESTAL 18" x 23" (2) 12" DRAWERS AND (1) 12" DRAWER *** FF PEDESTAL 18" x 23" (2) 12" DRAWERS 48" X 24" BRIDGE WITH FULL MODESTY 96" OVERHEAD A BOVE BRIDGE TO INCLUDE 15" WIDE OPEN TOWERS AT EACH END AND HINGED DOORS IN MIDDLE TASK LIGHT AND TACKBOARD INCLUDED  (State manufacturer name and number above if bidding an equivalent)	3	\$4,156.65	\$12,469.95		
3	PO-1B	WOOD GRAIN LAMINATE U-SHAPED OFFICE TYPICAL	3	\$5,511.40	\$16,534.20		
		84" X 36" MAIN DESK WITH BBF PEDESTAL WITH FALSE BULKHEAD MODESTY ** BBF PEDESTAL 18" x 27" (2) 6" DRAWERS AND (1) 12" DRAWER 96" X 27" CREDENZA WITH BBF PEDESTAL AND FF PEDESTAL WITH FULL MODESTY ** BBF PEDESTAL 18" x 23" (2) 6" DRAWERS AND (1) 12" DRAWER ** FF PEDESTAL 18" x 23" (2) 6" DRAWERS AND (1) 12" DRAWER ** FF PEDESTAL 18" x 23" (2) 12" DRAWERS 48" X 24" BRIDGE WITH FULL MODESTY 102" OVERHEAD ABOVE CREDENZA TO INCLUDE 15" WIDE OPEN TOWERS AT EACH END AND HINGED DOORS IN MIDDLE TASK LIGHT AND TACKBOARD INCLUDED 36" X 24" WARDROBE CABINET					
		(State manufacturer name and number above if bidding an equivalent)	•				
4	PO-2	WOOD GRAIN LAMINATE L-SHAPED OFFICE TYPICAL 72° X 36° MAIN DESK WITH BBF PEDESTAL WITH FALSE BULKHEAD MODESTY **BBF PEDESTAL 18° x 27° (26° DRAWERS AND (1) 12° DRAWER 48° X 24° RETURN WITH FULL MODESTY AND FF PEDESTAL ** FF PEDESTAL 18° x 23° (2) 12° DRAWERS	1	\$1,769.00	\$1,769.00		
5	CL-2 (A105)	(State manufacturer name and number above if bidding an equivalent) (2) 8' X 8' L-SHAPED WORKSTATIONS	1	\$4,506.36	\$4,506.36		
3	CL-2 (A103)	(2) 6 A 6 L-SHAFED WORKSTATIONS  50° HIGH TACKABLE/ACOUTICAL PANELS (2) RACEWAY DUPLEX OUTLETS PER USER (1) BBF AND (1) 36° DOUBLE WIDE F/F PER USER *** BBF PEDESTAL 15" x 24" (2) 6" DRAWERS AND (1) 12" DRAWER *** DOUBLE WIDE FF 36" X 18" (2) 12" DRAWERS	'		54,300.30		
		(State manufacturer name and number above if bidding an equivalent)		Allsteel Optimize			
6	SINGLE ADMIN (A105)	(1) 8' X 8' L-SHAPED WORKSTATIONS 64" HIGH TACKABLE/ACOUTICAL PANELS WITH (2) 48" OVERHEAD AND TASKLIGHTS 42" HIGH TACKABLE/ACOUTICAL PANELS WITH (1) 96" TRANSACTION COUNTER (2) RACEWAY DUPLEX OUTLETS PER USER (1) BBF AND (1) 36" DOUBLE WIDE FF PER USER **BBF PEDESTAL 15" x 24" 26" OF DRAWERS AND (1) 12" DRAWER **DOUBLE WIDE FF 36" X 18" (2) 12" DRAWERS	1	\$3,662.82	\$3,662.82		
<b></b> -		(State manufacturer name and number above if bidding an equivalent)	1	Allsteel Optimize			
7	CL-4 (A114)	(4) 8° X 8° L-SHAPED WORKSTATIONS 50° HIGH TACKABLE/ACQUITCAL PANELS WITH 7" FRAMELESS 1/4" THICK GLASS ALONG THE SPINE (2) RACEWAY DUPLEX OUTLETS PER USER (1) BBF AND (1) FF PER USER ** BBF PEDESTAL 15" x 24" (2) 6" DRAWERS AND (1) 12" DRAWER ** FF PEDESTAL 15" x 24" (2) 12" DRAWERS	1	\$7,869.80	\$7,869.80		
<b></b> -		(State manufacturer name and number above if bidding an equivalent)	•	Allsteel Optimize			
8	2 CL-6 (A119)	(12) 7.5' X 6' L-SHAPED WORKSTATIONS 50' HIGH TACKABLE/ACQUITCAL PANELS WITH 7" FRAMELESS 1/4" THICK GLASS ALONG THE SPINE (1) 48" X 2" HIGHGT ADJUSTABLE RETURN WORKSURFACE (2) RACEWAY DUPLEX OUTLETS PER USER (1) BBF AND (1) F/F PER USER ** BBF PEDESTAL 15" x 24" (2) 6" DRAWERS AND (1) 12" DRAWER ** FF PEDESTAL 15" x 24" (2) 12" DRAWERS	1	\$17,991.41  Allsteel Optimize	\$17,991.41		
		(State manufacturer name and number above if bidding an equivalent)		Ansteel Optimize			

# Furniture for Fort Bend County Public Transportation Administrative and Operating Facility

# Awarded 10/08/19: Core Interiors \$374,566.00 Funding: Public Transportation Grant

			Compone	Core In	toriore	Corporate Outfitters	Debnar
9	CL-2 (A125)	(2) 8' X 6' L-SHAPED WORKSTATIONS	Company 1	\$5.072.93	\$5.072.93	Corporate Outritiers	Debilai
ľ	,	50" HIGH TACKABLE/ACOUTICAL PANELS	1	40,07200	J.,.,.		
		(2) RACEWAY DUPLEX OUTLETS PER USER					
		(1) BBF AND (1) F/F PER USER ** BBF PEDESTAL 15" x 24" (2) 6" DRAWERS AND (1) 12" DRAWER					
		** FF PEDESTAL 15" x 24" (2) 12" DRAWERS	<u> </u>				
			]	Allsteel Optimize			
	antar number and and	(State manufacturer name and number above if bidding an equivalent)		00.004.84	00.004.54		
10	SINGLE ADMIN (D112)	(1) 8' X 8' L-SHAPED WORKSTATIONS 64" HIGH TACKABLE/ACOUTICAL PANELS WITH (2) 48" OVERHEAD AND TASKLIGHTS	1	\$3,801.74	\$3,801.74		
		(2) RACEWAY DUPLEX OUTLETS PER USER					
		(1) BBF AND (1) 36" DOUBLE WIDE F/F PER USER					
		** BBF PEDESTAL 15" x 24" (2) 6" DRAWERS AND (1) 12" DRAWER ** DOUBLE WIDE FF 36" X 18" (2) 12" DRAWERS					
		*** DOUBLE WIDE FF 36" X 18" (2) 12" DRAWERS	4	All-ta-l Ontimina			
		(State manufacturer name and number above if bidding an equivalent)	-	Allsteel Optimize			
11	CL-2 AND CL-4 (D120)	(6) 6 X 6' L-SHAPED WORKSTATIONS	1	\$9,819.76	\$9,819.76		
		(CL-2) 36" HIGH TACKABLE/ACOUTICAL PANELS					
		(CL-4) 64" HIGH TACKABLE/ACOUTICAL PANELS (2) RACEWAY DUPLEX OUTLETS PER USER					
		(1) BBF AND (1) 30" DOUBLE WIDE F/F PER USER					
		** BBF PEDESTAL 15" x 24" (2) 6" DRAWERS AND (1) 12" DRAWER					
		** DOUBLE WIDE FF 30" X 18" (2) 12" DRAWERS	1				
		(State manufacturer name and number above if bidding an equivalent)	-	Allsteel Optimize			
12	2 CL-2 (D121)	(2) 8' X 6' L-SHAPED WORKSTATIONS	1	\$8,658.93	\$8,658.93		
12	2 CL-2 (D121)	36" HIGH TACKABLE/ACOUTICAL PANELS ALONG EXTERIOR WALL (NO SPINE PANELS ALONG INTERIOR WALL, SEE DRAWI	NGS)	\$6,036.53	\$6,036.93		
		(1) 48" X 24" HEIGHT ADJUSTABLE RETURN WORKSURFACE	1				
		(2) RACEWAY DUPLEX OUTLETS PER USER					
		(1) BBF AND (1) F/F PER USER ** BBF PEDESTAL 15" x 24" (2) 6" DRAWERS AND (1) 12" DRAWER					
		** FF PEDESTAL 15" x 24" (2) 12" DRAWERS AND (1) 12 DRAWER					
			]	Allsteel Optimize			
		(State manufacturer name and number above if bidding an equivalent)					
13	2 CL-1 (D119)	(2) 8' X 6' L-SHAPED WORKSTATIONS	1	\$2,828.22	\$2,828.22		
		36" HIGH TACKABLE/ACOUTICAL PANELS (NO PANELS ALONG 8" DIMENSION) POWER TO BE PULLED FROM WALL (1) BBF AND (1) F/F PER USER					
		** BBF PEDESTAL 15" x 24" (2) 6" DRAWERS AND (1) 12" DRAWER					
		** FF PEDESTAL 15" x 24" (2) 12" DRAWERS	1				
		(State manufacturer name and number above if bidding an equivalent)	-1	Allsteel Optimize			
14	CL-3 (D108)	(3) 6' X 6' L-SHAPED WORKSTATIONS	1	\$6,153.04	\$6,153.04		
		36" HIGH TACKABLE/ACOUTICAL PANELS					
		(1) 48" X 24" HEIGHT ADJUSTABLE RETURN WORKSURFACE					
		(2) RACEWAY DUPLEX OUTLETS PER USER (1) BBF PER USER					
		(1) BBF FER OSER ** BBF FEDESTAL 15" x 24" (2) 6" DRAWERS AND (1) 12" DRAWER					
			]	Allsteel Optimize			
15	C-1	(State manufacturer name and number above if bidding an equivalent)  HUMANSCALE	78	\$635.20	\$49,545,60		
13	C-1 S415	DIFFRIENT SMART CHAIR, 4D HEIGHT ADJUSTABLE DURON ARMS	/6	\$055.20	\$49,343.00		
		STANDARD FRAME AND MESH, GRADE I SEAT	]				
		(State manufacturer name and number above if bidding an equivalent)	-				
16	C-2	(State manufacturer name and number above it bloding an equivalent)  STYLEX	48	\$388.41	\$18,643.68	İ	
	ARS5	ALLROUND GUEST ARMLESS CHAIR		0.500.11	310,013.00		
		FULLY UPHOLSTERED, GRADE B	1				
-	<u>I</u>	STANDARD FRAME AND GRADE 2 SEAT AND BACK	1				
<b></b>	(State manufacturer name and number above if bidding an equivalent)						
17	C-3	NATIONAL	24	\$366.55	\$8,797.20		
	N27MMSP	LAUDIO CHAIR					
		STANDAR D FRAME, MID MESH BACK, STATIC ARM GRADE 2 VINYL SEAT					
L	· 						
10	C 4	(State manufacturer name and number above if bidding an equivalent)	40	6210.20	612 771 20		
18	C-4 N52GHMC	NATIONAL JIMINY NESTING CHAIR, GUEST	40	\$319.28	\$12,771.20		
		STANDARD FRAME, MESH BACK, ARMLESS, MOBILE	1				
		GRADE 2 VINYL SEAT					
<b></b> -		(State manufacturer name and number above if bidding an equivalent)	-				
		(State manufacture: name and number above it british an equivalent)					

# Furniture for Fort Bend County Public Transportation Administrative and Operating Facility

# Awarded 10/08/19: Core Interiors \$374,566.00 Funding: Public Transportation Grant

		Company:	Core Interiors		Corporate Outfitters	Debnar
19 C-5 JOR80SRUPH14	KRUG JORDAN SLEEPER CHAIR, UPH ARMS AND CSTR STANDARD FRAME, GRADE 2 VINYL	21	\$1,687.05	\$35,428.05		
	(State manufacturer name and number above if bidding an equivalent)					
20 C-6A N74M2AC	NATIONAL TELLARO, 2.5 SEAT LOUNGE, CYLINDER LEG STANDARD FRAME, GRADE 1 UPHOLSTERY	2	\$1,292.25	\$2,584.50		
	(State manufacturer name and number above if bidding an equivalent)					
21 C-6B N74M2AC	NATIONAL TELLARO, 2.5 SEAT LOUNGE, CYLINDER LEG STANDARD FRAME, GRADE 1 VINYL	2	\$1,292.25	\$2,584.50		
	(State manufacturer name and number above if bidding an equivalent)					
22 C-7 N36SM	NATIONAL DITTO, BAR STOOL STANDARD FRAME AND SEAT	6	\$184.22	\$1,105.32		
	(State manufacturer name and number above if bidding an equivalent)	-				
23 C-8 C10	HUMANSCALE CINTO, FOUR LEGS, GLIDES, ARMLESS STANDARD FRAME AND SEAT	47	\$249.00	\$11,703.00		
	(State manufacturer name and number above if bidding an equivalent)	-				
24 C-10 K0010	LA-Z-BOY RECLINER INFINITE POSITION NON-LOCKING BACK STANDARD FRAME, GRADE 2 VINYL	4	\$867.93	\$3,471.72		
	(State manufacturer name and number above if bidding an equivalent)	-				
25 C-11 1 INCH	EMECO 1 INCH CHAIR STANDARD FINISHES	16	\$138.69	\$2,219.04		
	(State manufacturer name and number above if bidding an equivalent)					
26 C-12 BUNNY	FRONTGATE BEND BUNNY LOUNGE CHAIR, NO SEAT PAD STANDARD FINISHES	4	\$0.00	\$0.00		
	(State manufacturer name and number above if bidding an equivalent)	-				
27 C-14 N92B1	NATIONAL FRINGE, BENCH, ONE SEAT STANDARD FRAME, GRADE 2 VINYL	2	\$616.97	\$1,233.94		
<b> </b>	(State manufacturer name and number above if bidding an equivalent)					
28 PT-1 GRETCHEN	LANDSCAPE FORMS GRETCHEN PICNIC TABLE, WOOD SEAT AND TABLE STANDARD FINISHES	3	\$0.00	\$0.00		
<b> </b>	(State manufacturer name and number above if bidding an equivalent)					
29 T-1 83N4284SRTL CBV285828YBKP	NATIONAL FOOTINGS, 42DX84W, SOFT RECTANGULAR TOP, HPL WOOD GRAIN LAMINATE TOP STANDARD PAINT BASE POWER AND RJ45 INCLUDED	2	\$730.62	\$1,461.24		
	(State manufacturer name and number above if bidding an equivalent)					
30 T-1A 83N48120SRTL CBV2810028YBKP	NATIONAL FOOTINGS, 48DX120W, SOFT RECTANGULAR TOP, HPL WOOD GRAIN LAMINATE TOP STANDARD PAINT BASE POWER AND RJ45 INCLUDED	1	\$1,511.68	\$1,511.68		
31 T-2 WW1848RTFML WW4011MPA9	(State manufacturer name and number above if bidding an equivalent)  NATIONAL WAVEWORKS, 18DX48W, TRAINING TABLE, FLIP/NEST, HPL SOLID LAMINATE TOP STANDARD PAINT BASE MODESTY PANEL INCLUDED	20	\$784.61	\$15,692.20		
	(State manufacturer name and number above if bidding an equivalent)	-				

# Furniture for Fort Bend County Public Transportation Administrative and Operating Facility

# Awarded 10/08/19: Core Interiors \$374,566.00 Funding: Public Transportation Grant

			Company:	Core Interiors		Corporate Outfitters	Debnar
32	T-3 WW42WSRNL BP-18	NATIONAL WAVEWORKS, 42DIA, SURFACE, ROUND, HPL WOOD GRAIN LAMINATE TOP AND BASE	5	\$194.22	\$971.10		
<b>-</b>		(State manufacturer name and number above if bidding an equivalent)	•				
33	T-4 59N3636MGSQLW	NATIONAL TESSERA, 36DX36W, COFFEE TABLE, SOUARE, LAM/WOOD FEET SOLID LAMINATE TOP STANDARD PAINT BASE	2	\$793.19	\$1,586.38		
(State manufacturer name and number above if bidding an equivalent)							
34	T-5 WW3030WSSOL CBV2228DSOBP	NATIONAL WAVEWORKS, 30DX30W. SURFACE. SQUARE. HPL SOLID LAMINATE TOP STANDARD PAINT BASE	9	\$436.52	\$3,928.68		
		(State manufacturer name and number above if bidding an equivalent)					
35	T-6 WW36WSRNL CBV2740DRNBP	NATIONAL WAVEWORKS, 36DIA, SURFACE, ROUND, HPL SOLID LAMINATE TOP STANDARD PAINT BASE	3	\$546.66	\$1,639.98		
		(State manufacturer name and number above if bidding an equivalent)					
36	T-10 WW2460WSSDL 26N2328DVOBB	NATIONAL WAVEWORKS TABLE U-STYLE SUPPORT BASE 2dDX60W, SURFACE, RECTANGULAR, HPL SOLID LAMINATE TOP STANDARD PAINT BASE	22	\$404.69	\$8,903.18		
<b>-</b>		(State manufacturer name and number above if bidding an equivalent)					
37	T-11 SU	EMECO SU TABLE BY NENDO 26° SQUARE STANDARD FINISHES	4	\$660.88	\$2,643.52		
38	T-12 COFFEE	(State manufacturer name and number above if bidding an equivalent)  BEND  COFFEE TABLE  STANDARD FINISHES	1	\$0.00	0.00 \$0.00		
			1				
39	T-13	(State manufacturer name and number above if bidding an equivalent)  GUNLOCKE	2	62.022.60	67.045.26		
39	GYATBRT48120-WW	GUNLOCKE SARANAC RECT TABLE 48D X 120W 1 PC WD STANDARD VENEER FINISHES	2	\$3,922.68	\$7,845.36		
<b></b> -		(State manufacturer name and number above if bidding an equivalent)					
40	S-1 HLT425	MAYLINE 5-DRAWER LATERAL FILE, 42"W X 18 5/8"D X 67 5/8"H STANDARD FINISHES	32	\$818.43	\$26,189.76		
<b> </b> -	(State manufacturer name and number above if bidding an equivalent)						
41	P-1 10N2746LCL	NATIONAL PODIUM UNIVERSAL, 27WX46H, LECTERN, LAMINATE WOOD GRAIN LAMINATE TOP AND BASE	3	\$1,574.81	\$4,724.43		
<del> </del>		(State manufacturer name and number above if bidding an equivalent)					
Т		Grand Total			\$374,566		
Grand Police							